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@ 8+ V32
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@) vi-v2 ® n- V3

@ V7 - V2 =12.646-1.414 = 1.232
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x> -2x-8=(x- 4)(x+2)
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11. A, B7hoha¥ 28 W, A+ B o] #1227

A= 95+ /(22" = 3 x (- V)’

B = V14 x \/§+<—\/§>

A=14+2-32x2=7-18=-11

= 5.(_2)_ > (_§>__
B—12><9. 3 —12><9>< 5)= 10

~ A+ B=-11+(-10) = -21
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15. 6x>+ax+15= (2x+b)(cx+5) °l1 a,b,c =FTLE W, a+b+c
o] k22

O 21 @ 22 ® 23 @ 24 @25

6x2 + ax + 15 = 2cx? + (10 + be)x + 5b
2c =6, 5b =15, 10+ bc = a
c=3,b=3,a=19

L a+b+c=25




16. o4 (22 - 3x + 2)(x% + 5x + 6) — 60 = AFHES|oFH?

O (x+4)(x=3)(x*+x+5) @ (x-4)(x+3)(x*-x+4)
® (x+6)(x—2)(x2+x+5) @(x+4)(x—3)(x2+x+4)

® (x—4)(x+3)(x* +x+4)

~&B

(x? = 3x + 2)(x® + 5x + 6) — 60
=x-1)(x-2)(x+2)(x+3)-60
=(x-1)(x+2)x(x-2)(x+3)—60
= (x> +x-2)(x* +x-6) - 60

P +x=A2ZEF°oH
(A—6)(A—-2)—60=A2—8A —48
— (A-12)(A +4)
=(x®+x-12)(x%> + x+4)

= (x+4)(x=3)(x*> + x+4)




17. a®-8a-9b* + 16 & AFE5|5HH?

@(a+3b-1a-3b-4) @ (a+3b+4)(a-3b-14)
® (a+3b+4)(a+3b-4) @ (a-3b-4)>

® (a+3b+4)(a-3b+4)

(£4]) = a® - 8a + 16 — 9b?
( 4)% - (3b)*
=(a+3b-4)(a-3b-4)
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=xy(x+y-2)

= (24 V3)(2- V3)(2+ V3+2- V3-2)
=(4-3)x2=2
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1w @ ® 16 @ 19 ® 22

B *
2x—-y=3>=>y=2x-3

V2x+y=V2x+2x-3= Vdx-3
x = A4t 7P A2 FAE 491 10 o]Folojof stE =,
T2 o AlFgE 72 oldo] Hojof ek (VAx10-3 =
\/_7>72)

LV =3=7d 1, x =13 o|B=E ZHI}.
SLox=13




20. (x-2)x*-3(x-2)x-10(x-2) E J5=olstH?

@ (-2 (x-5) (x +2) @ (x-2) (x+5)(x+2)
® (x=2)(x-5)(x+3) @ (x-2)(x+5)(x-2)
® (x=2)(x+5)(x-13)

B

A=x-22 X5y
(x=2)x* -3 (x-2)x—10(x—2)
= Ax? - 3Ax - 10A

= A(x? - 3x - 10)
=A(x-5)(x+2)
=(x—-2)(x-5)(x+2)
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=(2a-b+2a+b)(2a—b—2a-b)
= da x (—2b)

= —8ab




